= ODOEBRE —56 4 58—

ROETEZEURTLN,

O1&#4%£0

@ (=1)? @ —5? 3 (—3)x2?
@ (2x4)? ® (—6)x(—1)° ® (—2)2x5?
O2F4%0

_ 1
=3, YT T3 prE, koXofirkon X\,
@ (r+2y)—CBr—4y) @ 24xy*=(—6y)

ROEAX%E [ ) OHOXLFICOWTHEZT I\,

@O 3x—4y+2=0 (y) @ m—aTb (a)

O3&F%0
ROB% A a DVICEL RS,
(1) 32 2) 446 3) 64/5

ROKE a/b DR L2,
1 2t @ 8 3 /50

* 3FFHEMEX DHOAFORET!

AZALEBIADRL2ATAZLELE, TOXRIZ, AXAELEBX AXA X
PRSI w Ak LT & & o, Fe, F 2%, ~—% L7 %K :
EHRLEDDOTT, D BEHNE LS ) THATLE, | 2 1 2
A X IR AEBES £ U7, o o 0 3
IV — 4 0
git | 5 5




